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Food SI 2019 PYQ English

Q1. Which scientist wrote a book called ‘A Brief History of Time'?
(a) Stephen Hawking

(b) Edward Jenner

(c) Meghnath Saha

(d) Pasture

Q2. What is associated with Shanti Swarup Bhatnagar Award?
(a) Sports

(b) Science and technology

(c) Agriculture

(d) Movies

Q3. Summer solstice occurs in the Southern Hemisphere on
(a) December 22nd

(b) September 23rd

(c) June 21st

(d) March 21st

Q4. Which is the oldest trade union organization in India?
(a) INTUC

(b) CITU

(c) ALT.U.C

(d) BMS

Q5. Where is the Indian Council for Agricultural Research located?
(a) Dehradun

(b) Hyderabad

(c) New Delhi

(d) Itanagar

Q6. What is Zero Hour’?
(a) When the proposal of the opposition is considered
(b) When the most important issues are raised

(c) The interval between morning afternoon sessions
(d) When a Money bill is introduced in the Lok Sabha

Q7. Which of the following rocks is transformed to marble?
(a) Granite

(b) Limestone

(c) Pete

(d) Shell

Q8. Which of the following is not a source of renewable energy?
(a) Hydropower

(b) Solar energy

(c) Fuel cells

(d) Wind power
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Q9. The word Sufi is derived
(a) From a kind of poem

(b) From a type of clothing
(c) From a language

(d) From the name of a place

Q10. When does the solar eclipse occur?

(a) When earth comes between sun and moon

(b) The right angle is generated between the moon and the sun
(c) When the moon comes between the sun and the earth

(d) When the sun comes between the moon and the earth

Q11. The chemically inert gas present in the atmosphere is
(a) Nitrogen

(b) Argon

(c) Water vapor

(d) Oxygen

Q12. The head of the Reserve Bank of India is called
(a) Chief Executive Officer

(b) Managing Director

(c) Chief Banking Officer

(d) None of the above

Q13. The year of the launch and implementation of the Five-Year Plan of India was
(a) 1955
(b) 1951
(c) 1960
(d) 1965

Q14. Disinvestment in public sector is called
(a) Liberalization

(b) Globalization

() Industrialization

(d) Privatization

Q15. The Supreme Court judges administer take oath before entering upon office is conducted by
(a) Chief Justice of India

(b) President or Vice President

(c) The President or any person appointed by him

(d) Prime Minister

Q16. Vitamins that is/are commonly excreted by human urine
(a) Vitamin A

(b) Vitamin D

(c) Vitamin C

(d) Vitamin A and D

Q17. By whom the Speaker of the Lok Sabha is elected?
(a) By all members of Parliament

(b) Directly by the people

(c) By all members of the Lok Sabha

(d) The members of the majority party of the Lok Sabha
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Q18. India has the largest number of workers employed
(a) In the textile industry

(b) Iron steel industry

(c) Petrochemical industry

(d) Automobile industry

Q19. The famous drawing ‘Satyam Shivam Sundaram’ has created by
(a) Mahendra Nath Singh

(b) Nandadishya Sharma

(c) Shivanandan Natial

(d) Raj Kapoor

Q20. Which of the following has the highest calcium content?
(a) Bajra

(b) Maize

(c) Sorghum

(d) Wheat

Q21. Dialysis is used for defective kidney patients. This process involves
(a) Absorption

(b) Osmosis

(c) Electrophoresis

(d) Diffusion

Q22. Consider the following statements

1. 2G spectrum uses 30-200 KHz bandwidth

2. 3G spectrum uses 15-20 MHz bandwidth

3. 4G spectrum (4G spectrum) uses at least 40 MHz bandwidth
Which of the above statements is correct?

(a) All

(b) 1and 2

(c)2and 3

(d) Only 3

Q23. Which of the following is the oldest grand slam in the world?
(a) Wimbledon

(b) French Open

(c) Australian Open

(d) US Open

Q24. The largest flower in the world is
(a) Lotus

(b) Rafflesia

(c) Giant Cactus

(d) None of the above

Q25. Which of the following is a popular programming language for developing multimedia webpages?
(a) COBOL

(b) Java

(c) BASIC

(d) Assembler

Q26. Who was the first Home Minister of independent India?
(a) Sardar Ballavbhai Patel
(b) Mahatma Gandhi

3 | https://www.adda247.com/bn | https://t.me/Adda247Bangla | Adda247 App


https://www.adda247.com/bn/
https://t.me/Adda247Bangla
https://play.google.com/store/apps/details?id=com.adda247.app&hl=en_IN&gl=US&_branch_match_id=1202122152669560571&utm_medium=marketing&_branch_referrer=H4sIAAAAAAAAA8soKSkottLXT0xJSTQyMddLLCjQy8nMy4YJxGflJxUDABG%2BSEQlAAAA

(c) Jawaharlal Nehru
(d) Subhash Chandra Bose

Q27. The word Congress was derived

(a) From the history of North America

(b) From Irish history

(c) From the British Commonwealth

(d) From the name of the American Parliament

Q28. In which field the Pulitzer Prize is given?
(a) Science and technology

(b) Literature and journalism

(c) International understanding

(d) Environmental studies

Q29. ‘Ghumar” folk dance belongs to
(a) Gujarat

(b) Punjab

(c) Rajasthan

(d) Tamil Nadu

Q30. Amnesty International is a

(a) Human rights groups

(b) UN agency to fight against global terrorism
(c) Refugee camps in Croatia

(d) Branch of the World Bank

Q31. Troposphere is the hottest part of the atmosphere because
(a) It is closest to the sun

(b) It contains charged particles

(c) It is heated by the surface of the earth

(d) Heat is generated in it

Q32. The first completely Indian bank was
(a) Kanara Bank

(b) Punjab National Bank

(c) State Bank of India

(d) Central Bank of India

Q33. The song ‘Vande Mataram’ was sung for the first time at the session of the Indian National Congress in

(a) 1886
(b) 1892
(c) 1896
(d) 1904

Q34. Who was the first non-citizen to get Bharat Ratna?
(a) Nelson Mandela

(b) Abraham Lincoln

(c) Khan Abdul Gaffar Khan

(d) Mother Teresa

Q35. Who were the first to introduce gold coin in India?
(a) Shakas

(b) Hunas

(c) Cholas

(d) Indo-Greek
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Q36. Who built the famous Sanchi Stupa?
(a) Ashok

(b) Chandragupta Maurya

(c) Ajatshatru

(d) Shashank

Q37. What are the minimum required calorie intake prescribed by the Planning Commission for rural and urban areas,
respectively?

(a) 2400 and 2100

(b) 2100 and 2400

(c) 2400 and 2200

(d) 2100 and 2200

Q38. ‘My Life’ is autobiography of
(a) Dr. A. P.]. Abdul Kalam

(b) Dr. Rajendra Prasad

(c) Bill Clinton

(d) Hillary Clinton

Q39. The most malleable metal
(a) Silver

(b) Gold

(c) Aluminum

(d) Sodium

Q40. Who was the first woman to climb Mount Everest?
(a) Arati Saha

(b) Asha Agarwal

(c) Bachendri Pal

(d) Rita Faria

Q41. The largest man-made canal in the world is
(a) Rhine canal

(b) Panama Canal

(c) Suez Canal

(d) None of these

Q42. The first Ombudsman (Lokpal) Bill was introduced in Parliament in
(a) May 1968

(b) May 1980

(c) July 1982

(d) June 1985

Q43. Which of the following is a folk dance of Himachal Pradesh?
(a) Dhaman
(b) Chapelli
(c) Mahathu
(d) Dhakoni

Q44. Which organ of the UNO is considered as World Parliament?
(a) General Assembly

(b) Security Council

(c) International Court of Justice

(d) Trusteeship Council
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Q45. The 2020 Olympics will be held
(a) In Japan

(b) In London

(c) In Germany

(d) In Rome

Q46. Ministers may be chosen from

1. Lok Sabha

2. State Assembly

3. Outside the legislature

Select the correct answer using the codes
(a) Only 1

(b) Only 2

(c)2and1

(d)1,2and 3

Q47. Which article of the constitution separates Jammu and Kashmir from the rest of India?
(a) 370
(b) 360
(c) 268
(d) 361

Q48. Which one will fall down fasted in vacuum among feather, a wooden ball or a steel ball?
(a) A wooden ball

(b) A feather

(c) A steel ball

(d) All at the same speed

Q49. Which of the following pairs belong to the class of cold-blooded animals?
(a) Birds and monkeys

(b) Snakes and birds

(c) Frogs and snakes

(d) Rats and chameleons

Q50. Which of the following is responsible for the release of the sun's energy?
(a) Fission

(b) Fusion

(c) Chemical section

(d) Gravitational collapse

Q51.12, 16, 32, 68,132, ?
(a) 196
(b) 232
(c) 276
(d) 213

Q52. Suresh borrowed Rs 800 at 6% interest and Naresh borrowed Rs 600 at 10% interest. After how long will the debt
amount of both be equal? (at Simple interest)

(a) 15 Y5 years

(b) 14 Y4 years

(c) 18 Y3 years

(d) 16 %4 years
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Q53. Some sum is invested in simple interest at a certain rate for three years. If it was kept at 1% higher rate, it would
have been fetched Rs 5100 more. The sum is

(a) Rs. 170000

(b) Rs. 150000

(c) Rs. 125000

(d) Rs. 120000

Q54. How much simple interest will be obtained after 5 years at 8% simple interest rate on Rs.89307?
(a) Rs. 5413
(b) Rs. 2678
(c) Rs. 3572
(d) Rs. 4752

Q55. If LCM of two numbers is 2376 and HCF is 33, and one number is 297, then what is the other number?
(a) 216
(b) 264
(c) 642
(d) 792

Q56. Three people can do a work in 18 days. 6 boys do the same work in 18 days. How long will 4 people and 4 boys do
that together?

(a) In 10 days

(b) In 6 days

(c) In 12 days

(d) In 9 days

Q57.A can do ajob in 4 days and B can finish this job in 12 days. How long will it be over if the two work together?
(a) In 2 days
(b) In 3 days
(c) In 4 days
(d) In 5 days

Q58. The age ratio of A and B was 3:4, 7 years ago. After 9 years their age ratio will be 7: 8. B’s present age will be
(a) 16 years
(b) 19 years
(c) 28 years
(d) 23 years

Q59. The age of the father is 9 times the age of the son and the age of the mother is 8 times the age of the son. The sum of
the ages of father and mother is 51 years. What is the age of the son?

(a) 7 years

(b) 5 years

(c) 4 years

(d) 3 years

Q60. A works 20% less than B. If A finishes a job at 7% hours, B does that in
(a) 4 hours

(b) 6 hours

(c) 8 hours

(d) 10 hours

Q61. In which proportion must a grocer mix wheat at Rs. 2.04 per kg and Rs. 2.88 per kg so as to make a mixture of worth
Rs 2.52?

(a) 2:3

(b) 3:2
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(c) 5:3
(d) 3:4

Q62. 300 rupees is divided between P, Q, R in such a way that Q gets 30 rupees more than P and R gets 60 rupees more
than Q. Then what will be the ratio of their shares?

(a) 2:3:5

(b) 3:2:5

(c) 2:5:3

(d) 5:3:2

Q63. If cost price of 15 eggs is Rs 75 then what will be the cost price of four dozen eggs?
(a) Rs. 240
(b) Rs. 300
(c) Rs. 150
(d) Rs. 185

Q64. P, Q and R start a business. P invests 3 times the amount Q invests and Q invests 2/3 as much as R invests. What is
the capital ratio of P, Q and R?

(a)3:2:6

(b) 2:6:3

(c)6:2:3

(d)5:2:3

Q65. Jagat Ram, a milk seller has some amount of milk to sell. In what proportion, he should mix water to get 5% profit if
he sells the mixture at cost price?

(a) 1:10

(b) 1:5

(c) 1:20

(d) 1:15

I+—
241 )
Q66. If 3 then whatis the value of x?
(a)7/10
(b) 13/10
(c)11/10
(d)17/10

Q67. What will the day exactly 64 days later if today is Monday?
(a) Thursday

(b) Wednesday

(c) Friday

(d) Tuesday

Q68. From Monday to Wednesday, the average temperature is 37 degrees Celsius and from Tuesday to Thursday the
average temperature is 34 degrees Celsius. If the temperature on Thursday is 4/5 of Monday's temperature, then the
temperature on Thursday was

(a) 35.5°C

(b) 34°C

(c) 36.5°C

(d) 36°C
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Q69. %5 of 1%5 of 75% of 540 =?
(a) 378
(b) 756
(c) 252
(d) 332

Q70. Which among the following is the largest?
(a) 7/9

(b)11/14

(c)3/4

(d) 10/13

Q71. A train takes 9 seconds to cross a pole. If the speed of the train is 48 km / hr then what is the length of the train?
(a) 150 m

(b) 120 m

(c)90 m

(d)80m

Q72. If the speed of a swimmer in still water is 9 km / hr, determine the downstream speed of the swimmer favor when
the river is flowing with the speed of 6 km/hr.

(@)15km / hr

(b) 18 km / hr

(c)3km /hr

(d) 12 km / hr

Q73. A 400 m long train takes 36 seconds to cross a man walking at a speed of 20 km / h. Then what is the speed of the
train?

(@) 20 km / hr

(b) 30 km / hr

(c)15km / hr

(d)11km /hr

Q74. A train covers 90 m in passing a standing man. Determine the length of the train.
(a) 20 meters

(b) 87 m

()71m

(d) 90 m

Q75.X covers 1 km in 8 m 40 s while Y covers the same distance in 10 minutes. By what distance does X defeat Y?
(a) 133 m

(b) 13325 m

(c) 133%m

(d) 133% m

Q76. What will be the angle between the hands of a clock when the time is at 4:40 pm?
(a) 1200
(b) 1000
(c) 1100
(d) 1300

Q77. A shopkeeper makes a 20% profit on cost price even after giving 10% discount to his customer. What will be the
marked price of the product which costs Rs. 4507

(a) 600 rupees

(b) 540 rupees

(c) 660 rupees

(d) 580 rupees
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Q78. What smallest number should be added to 1057 so that the sum becomes completely divisible by 23?
()1
(b) 3
(c)2
(d) 4

Q79. How many numbers between -11 and 11 are multiples of 2 or 3?
()11

(b) 14

(c) 15

(d) None of these

Q80. A class is divided into two sections A and B. The passing rate of 20 students in section A is 80% and the passing rate
of 30 students in section B is 70%. What is the passing rate of both the sections?

(@) 72%

(b) 74%

(c) 75%

(d) 77%

Q81. The smallest number which when divided by 4, 6, 8 and 9, leaves 0 remainder in each case and when divided by 13
leaves a remainder of 7 is

(a) 144

(b) 72

(c) 36

(d) 85

Q82.X,Y and Z were contracted to do a job for Rs 6000. X and Y did 34 of the job together. The rest of the job was done by
Z. How much will Z's wages be?

(a) 1350 rupees

(b) 1200 rupees

(c) 1500 rupees

(d) 1450 rupees

Q83. A dozen pair of socks quoted at Rs. 80 are available at 10% discount. How many pairs of socks can be purchased for
Rs 24?

(a) 4

(b) 5

(03

(d) 6

Q84. Determine the value of:
3

999%+999%+9997+999%+ 999§+ 999%
(a) 5997
(b) 5979
(c) 5994
(d) 2997

Q85. Anita bought a bike for Rs 3200. He sold the bike at a loss of Rs 240. At what price did he sell the bike?
(a) Rs. 2960
(b) Rs. 2690
(c) Rs. 3440
(d) Rs. 3360
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Q86. Gopal bought a cellphone and sold it to Ram at 10% profit. Then Ram wanted to sell it back to Gopal at 10% loss.
What will be Gopal’s position if he agrees?

(a) Neither profit nor loss

(b) There will be 1% loss

(c) There will be 1% profit

(d) There will be 0.5% profit

Q87.V? + 35 0of 80 = 60x1/2x8
(a) 36864
(b) 46864
(c) 56864
(d)66864

Q88.34 0f % of 7/10 of 1664 =?
(a) 648
(b) 762
(c) 612
(d) 728

Q89. In an examination out of 480 students, 85% of the girls and 70% of the boys passed. How many boys appeared in the
examination, if total pass percentage was 75%?

(a) 370

(b) 340

(c) 320

(d) 360

Q90. HCF of three numbers is 23. If the ratio of numbers is 1: 2: 3, then find out the numbers.
(a) 69, 15, 22
(b) 23, 46, 69
(c) 25,31,41
(d) 23,21, 35

Q91. The population of a city is 250,000 which increases at a rate of 2% per year. What will be the population growth after
two years?

(a) 2500

(b) 10000

(c) 252000

(d) 10100

Q92. The average age of Rakesh and Mohan is 15, the average age of Mohan and Ramesh is 12 and if the average age of
Rakesh and Ramesh is 13, then what is the age of Mohan?

(a) 16 years

(b) 13 years

(c) 14 years

(d) 12 years

Q93. The sum of place values of 2 in the number 2424 is
(a) 4

(b) 220

(c) 2002

(d) 2020

Q94. One-half of a certain number is equal to 65% of the 2nd number. What is the ratio of the first and second numbers?
(a) 10:13
(b) 8:13

11 | https://www.adda247.com/bn | https://t.me/Adda247Bangla | Adda247 App


https://www.adda247.com/bn/
https://t.me/Adda247Bangla
https://play.google.com/store/apps/details?id=com.adda247.app&hl=en_IN&gl=US&_branch_match_id=1202122152669560571&utm_medium=marketing&_branch_referrer=H4sIAAAAAAAAA8soKSkottLXT0xJSTQyMddLLCjQy8nMy4YJxGflJxUDABG%2BSEQlAAAA

(c) 13:8
(d) 13:10

Q95. The ratio of girl to boy in a class of 49 students is 4:3. If four girls leave the class, the boy-girl ratio will become
(a) 11:7

(b) 8:7

(c) 6:5

(d) 9:8

Q96. An army general wants to form a square with 36562 troops. After arrangement, he found some troops were unused.
What is the number of unused troops?

(a) 36

(b) 65

(c) 81

(d) 97

Q97. If the speed of 35 m / s is converted to km /h, then it would be
(@) 8km /h

(b)9km /h

(c)10km /h

(d)12km /h

Q98. One person rides a bicycle in 90 minutes and crosses a distance of 12 kilometers. Then how far will he cover in 3
hours if he drives the bike at uniform speed?

(a) 36 km

(b) 24 km

(c) 30 km

(d) 27 km

Q99. A tank is filled by pipe X in 2 hours and by pipe Y in 6 hours. The pipe X opened at 10 in the morning. At what time
the tank would be filled, if the pipe Y is opened at 11 in the morning?

(a) 12:45 pm

(b) 5:00 pm

(c) 11:45 pm

(d) 11:50 pm

Q100. If it took 2.8 hours to cover a distance of 315 km, what was the speed of the car?
(a)1125m /s

(b)56.25m /s

(c)625m /s

(d)31.25m /s

SOLUTION

S1.Ans.(a)
Sol.
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S2.Ans.(b)
Sol.
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S3.Ans.(a)

Sol.

o SR ARG, TN FNGATNIR ATNS TS, T TH TN AT JHf0 (W 0 i 4T 0 M| 4% =7
T2 TG (N (BB A3 TReeT) O | (12 (ST T3, FHFA TG 26T TN ST BT O AL HIZTN
(T I8 ST A STNY oy A |

o BB (AT A6 21 1 TGN 8 WY (NeAtef A% 22 =1 fETI= TG |

S4.Ans.(c)

Sol.

o e SN (G 2BTN FTAT (AITUC) T OISR ATBINOT (G 28T (FOII¥ | I ORred Fose Afoa
ST T |

e 1920 STTAF 31 IR FRAR A6 AfSB© =T 8 AT AG=IS AT 47 AW TGS = |

S$5.Ans.(c)
Sol.

o ST ™1 W XS 6 (SRR JH0 FTSNS FFT T OIATS FY FAHT 8 NMITNF STNICTA
T IR | A6 FR AT FR SITN & PRl [F@on [eont S| (SR FRNG 7 TS R I FEA |
A6 RUP FR @I 8 Frw ASHAT IZTSW (FESTSH | 2 1929 e ASBS = 97 A4 Frefers (NG Mifaws
EIESST

$6.Ans.(b)
Sol.

o TGA WSAF = (TR STAY IYN AN AT (V) Gpld GRS BP9 [RINBfE T FE00 AMEA |
BT STNTFIA (FICTHTN WSS 35 AT WS, 57T 12 BT (AT 1 57 & | A TSR ST ([0 S it=g
GIY, ST STTCRE 91 ey STt 10 B S0 1619/ (GG (oY e =11 (MIforsy w2 o (3 w1
SR BTN FICO BN ©f IR G FACO 24|

S$7.Ans.(b)
Sol.

o GAINF, AFHC N e, T TS (Sif o 8 IS WIET TS R W ifFore =71 I8 ForsiFe
RIS THITS 2T TIHA O 3 =, (Tt a2 SR 0 e =7

$8.Ans.(c)
Sol.

o (FIETNG G (HFTF AANIAFITCI9T =[S B 7T | AFBE AN QBT *M & G |

S9.Ans.(b)
Sol.

o T T 2PN W SPNSEIHET WY 2 I0F AILMAT TN - WS N NINOrGd AT IS G NI ore
FAR FIGF I 2T O80T | N fNTGE G277 SNYNT SN FaN SHAN ATy o JfF Iy wfoze
| AN AFOT SIS OSSF I 2T, T WY SF Tgear |

Q10.Ans.(c)
Sol.

o 517 TY= ARINTT© WIZT R TNTT G A} 8 ST TR 07 210G, T4 AAAT (@ 7 F7 Feg F
WISRF I TN AT =0T 19 (FR ST GAY) | G2 TOAICE ST AR I ZH | SNRIHIF A T@N 517 GBI TN
& To1 16 | AAINTS 2AfS I57 WSS 12 (AT ATSH TLAZY ARFAFS T | I3 0L =T (A0F F2A0 STIA=T ef ST o=y
=
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S11.Ans.(b)
Sol.

o T5{x A =1 ASMIE (el T 2A8IF Ar ¢ ATTNAIF 24N 181 A6 T ARINT 56 18 (© WIFS BTG (AT
STTTST | 0.943% (9340 ppmv) GRS NTT W5fN =1 SfAAT IS ToOrT SAEF AT 07| G AT Ty
T FRSTIRAS QAN (TF G AT 2ATT 4000 ppmy), FILN TI2 WHZG (400 ppmv) I (GTT 23 B QM q72 fNgw
(18 ppmv) & (6T 500 B (I

o 5N AT O NGT IRV G AL 3 A |

S$12.Ans.(d)
Sol -

o TITOIY G ANTHA ALNCH I T Sro~q |
o TITOIY TGS AR IOV SToNd NGHS AT |

$13.Ans.(b)

Sol.

o YV GO AYNNF GO (NIRF ORTOT SN AYN ABAMNS ATIGAN GNZNN AN 2 Greid
NAICICHR ATICH =TT | AN NLIMNE ATFFE 1951 ST Bl FAT IR TN YAS AANF YO GRAC WA NI
PR | AAN H2BIAXP ATFNG G -GN NG BT fofg T IS0 ARIO B (IR |

S14.Ans.(d)
Sol.

o (IIFIAFYN I JH6 AT I GIAT AH(6 =S T I AFPIER NPT (A @91 VAR HTeT T
A6 TS TR WY AT FACO A2 O] AMGITO SR BCE, (TAN (@ITIIF ([P mo =k S
RO Y N NS FACO A |

o g fH4..957.28.09 L 1eTy W™ RIS FF 1991-92 A ([RAIFIRPIT AT ©F =7 |

$15.Ans.(c)
Sol.

o SN (PICEF OB 1Y 42T AZATS A G2 SO AHH© FOF Y@ W (HH (& BT AFoifere =71
AZATS SIS SN (PO [ETTRAG F1Y ARV G OO Y OIS (NS S|

$16.Ans.(c)
Sol -

o FEBIFN ¢, TMF WIHFAIP TGS AT 2T, JHf6 T HINT fOBIIN | Gited HINT OB 3 S AfFwer s
TINT T 492 AN WL f5fe =71

$17.Ans.(c)
Sol.

o (FIFTOI (ATF NKAHS AT STl NG N PR RN FE | =0 9o (6 28T Sfvw [N
(TR FIOFY @R I FAOSIN J72 [T R N0 A6 AZCI9T 287 O5w|

S$18.Ans.(a)
Sol.

o (GBI A1y OIToIT WYRSTS WS SFGoY I WG F| 15 T AT (14 *1018*Y), FHAE 3T (35 Fferg=)
]2 CICRE Y& AT (AT 24.6 *TO1*) A AL |

$19.Ans.(c)
Sol.

o RIS fHTFA o7 FRY STHAT (0 FRAREN FRIA™ VS ST TSN FRIT STHAN JF0 TFS *1 A S0
TANI ST WY 32N A | 25 4T 5197 RN STHIT 570 ©9RI R 2AfS O W3 8 ©f & AW FI0S
BIEEICER]
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$20.Ans.(a)
Sol.

e 100 gm IMGHITS AT 42 mg FIETAN ACH |

S21.Ans.(d)
Sol.

o GRS 3510 WY- (o) R TS TIVF AN A7 T HRIYT AETRIRFELGAINT NTOF ST G S| AN
T SRS AMfesea g0 43, Gt B BS L o ITNrgd AT (ATF I N0 W26 50 7|

o FfFS S TSI, TR = 7§ (WF WSS T, TIT 432 [TT& 1l SH0er Af G w1 Iove f[Fofv =g
FONRPOIL I3 FIGBTEAT FACS AT N O7d J2 BIFLAT oM F41 =7

S$22.Ans.(a)
Sol.

o 2 G 3@ (26 spectrum) 30-200 KHz VGG I FH
o 3fG TG (3G spectrum) 15-20 MHz ING G2 T B
o 4f8 TG (4G spectrum) VS 40 MHz IS H2Y JIIZT B

$23.Ans.(a)
Sol.

o TIFEGN 2 SIACHLY ATOIN NS AW GANTNG T 1877 AN NGBS (AR | AIIOIBIET 1881 AT 3645 STA,
SIANF 1891 ST (T2 ST A2 1905 ST WG STHN &5F |

S24.Ans.(b)
Sol.

o AT TICET IT oIS o1 2o BTN WS | G2 et 6T TN (F2N HICH NS | A6 3 F6
TG I (1T A R 15 MGG 1S 8T FACO A D JH6 G BfEw, IR (PN PHN AT, PG A
PG (W2

$25.Ans.(b)
Sol.

o TIOl JF(6 Oh-BHF, (H-ofeF, WTos-fofed (nanfSs amsrasy| o SHT e NG STIITNT B
TINT JF6 G (TS ©raT|

$26.Ans.(a)
Sol.

o TN RS AYN FAZNA!, ST IFOOI2 NG| ©fg ST (ATH, G2 WPAOF (FRUT NFTO ATNNIT
B CRIRICE RS RRES SRR 45]

o FIRANOIF I OATS AYT WL =V A *M¥Y4W G|

o TRNOIA T OIATOT AW ARSI WJ TN I g |

o FRIWOIF 27 OIS AN AL 27 T AT 25|

S$27.Ans.(a)
Sol.

o BT NG HAN T@ WCNHBIF ORI (AT A1Y =T |
o FTATTT WY T B0 PSS S0l (U (AT SIS M 2N FNCT WA FAE G JF (G =
o AT MHFN THFANZ I W2ATo AN | AT FIE 32 AFSHE «ifFww gran ofdw|

$28.Ans.(b)
Sol.

o TR “FTFHIR, NI TP, ARS] A7 THITO WA AR G 432 Florgd G [No2wb 167
TR TGHGIG PO ANS AN FHA| D 1917 ST & 7|
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$29.Ans.(c)
Sol.

o TR I I AGEAT JH0 PO (AF0s | AT [T TGS I FqFS! (MATH G FAK Gy A6 ST~
FARE T A TN AGEN T2 A2 FIARE | TOF ALAS A FAT AR AT AR 1 = TI-T 9001
NP (AP AN |

$30.Ans.(a)
Sol.

o TTNCAND TCRWFAEA JH 0 NBG0P (AN S A AL BN TG+ 8 T WMRIAMLGHIEL S 718 Wz
T A0 AR, TR ROY 7 o NS QI 57057 q-7e TNLF IR

$31.Ans.(c)
Sol.

.ﬁwwﬁﬁrm%wmml SR T G (AT HIAAF ©IH (T B | GEATFFALEI Y
RTT eI 0T =0T T | JFRCTR NABCEAS BF ARG HOT IACH BIFT AFCS AT | IS HI9Y G_¢ ST TGS
TEoOId S 15 AT |

$32.Ans.(b)
Sol.

o A ST SIFOIT AT 2 AR TN F1eF (PNB) |
o AR VNI P T O® JTIE NADNGAN JH0 AME I3 LS G} AT | A6 1894 ST AfSPw
AR ]2 G STHE TPOF OO VM0 TR

$33.Ans.(c)
Sol.

o IATNIY FT 1896 HIET FEIBIOIT FLLAT NI 0K NOAN (SR |

$34.Ans.(c)
Sol.

o M8 TS TTSIY GHAAZVFIA NAFFME MST T, OOTY JFGH naturalized NFH-NMIR (SIS (1980)
32 2 W-OFOS (M8 (AR W MFHF A (1987) (G 36 SRS (=3 A ANfFIIN 9f{F) <2
(TSI HICGeT (1990), TR 7EFT SNfzrHa NsiE<s |

$35.Ans.(d)
Sol.

e 270 BC (® 3(™I-f41 ORT® AN ¥ &1 A5eTw Ba |

$36.Ans.(a)
Sol.

o TSR fALUITS D T YT (N THB WHF FHF DO *OMAITS (W3S BIAMRLAN A7 N BT =W (T A6 TR
07 % | 7 FIOCH T AT (TN IF AN oS 20|

S$37.Ans.(a)
Sol.

o ARFGN FHEPW TET [NeifFe ¥ AarGNTer ANt ASHN 2400 A FER 72 *=A126E ARBHN 2100
PR GO TN B, 42 NLFIT *1=A126T *NARS (FTHeo F @7 Gl

$38.Ans.(c)
Sol.

o 12 AIRF 2004 S WP (ATGS 7T {FAGING T4 WG|~ | {FNoN e Qo A o 57 <=, aff 22
(Y G, 2004 ST & 2ATT | 320 TF AR 52 2T SR K3 (@I 20T BrofRe; 3364 2.3 ffamas
QM Ff+ [ =l
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$39.Ans.(b)
Sol.

o (ST STITETT NN~ 4@ |
o NS JFC LI B [RFS ZSTR UG (FTHIHNA 51 | I TANT T, JH0 AR ATSHAT ST BI=6T
=[S A

$40.Ans.(c)

Sol.

o JTHT AT W 29 IRF ICICT WG6 JOIITH ATHNTHIAT AN NIRRT | ZE0T AR SSIHI (AT S,
R N O G JHHA WS fNGF JOITH *757 SN2 ACaRreT= |

S$41.Ans.(c)
Sol.

o FPITT WRFS TG 41T, T GRLTASICSE (ARG A9 S FTF 0, A6 [ROYT IZSW NP8 41| A6 T
STH-BIIT GETAY G2 1859 (ATF 1869 ST YT 10 IR BILH NS Z0IReT |

S42.Ans.(a)
Sol.

o AW G (THFHN A 1968 S WG MY GIT AV FERAN 72 1969 ST 5@ (GIFTOT 2 (A%, [F3
AGHTOrY A 2|

S$43.Ans.(d)
Sol.

o TR FRATEE AR (FTPg05 NN | 1P STq3feT FRATEeT TR (AP0 |

S44.Ans.(a)
Sol.

o GINSSSTHR SR AfETw [ S153 eI [Eoo|

o GISSILTRR SR AfFIN GIfSHALTII TG 2L DI WL JH0 |

o TS TR TR (28, 97.[G.9) =TT AT AU NS (N0 w7 | STet sty g, few oifds, 4t sufosistam
SN WSOGT WFHIOF [RTTSF 4f I I STAGNR TNy JH6 SN CFIATN 27N FA |

o I YT AT NG 27|

S45.Ans.(a)
Sol.

e 2020 ST 31 ©N WANS WYD© ZF GIANL G (GBI |

$46.Ans.(d)
Sol.

o SIS, (FF>SI T AGTHOIR ST, N IR TS 2| (T A& T GoF FEA (FIVGT ST N OIFS
W3 RO NS 41 (I0 2| 58, 6 VT N0, OIS IR A6 G STAT (O R, A, fofF 3T
2O (A [[RT© ABE|

S$47.Ans.(a)
Sol.

o TIFOIT FfIUHI 370 FHIAID G, 8 FIACE RO w1 ez | A6 G0 <33 SR w1, JH6 SR
HOTF! A2 AT TGS 2N G FTTS*IA RCARe |

S$48.Ans.(d)
Sol.

o TV G WPAH, g T, g = GM/R%; (TUMH G = RSN NFT &IF, M = YA ©F, R R = AR (FF (A
7R, T AT SYFR[AT IPMEIT AN | WS4R, IBI ©F 1 ZT | VLNHFFCT FIRACET 3§39 I8 O ST fNEae
QI

o *[NTEITN AT TSNS 14T ATF T | 12, AIBTE2 AN Hoory Wb NG|
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$49.Ans.(c)
Sol.

o ST A Grorg AN & IS oI ATV | HROH2 I Aoet ST ATNHT (NN ge |

$50.Ans.(b)
Sol.

o ST (ATF TOT O I3 FITEF & - JH0 AINAIE FTICH AfG (AF THe® 2 T J0HR (FIIAF [$SF TG
e 4T RS T S0 fO©TF TG ©F (G- FFo* NIt AHffoe|

o T WOIBF, 2 A GG (A6 AT ©F 2T (T (T JI0 5 TAYITGH [NOfFT) G MARANZE LT
TN, A2 (BN JFES =T ¢ FRITIN A =27 | 4R ST A G6 ST Y ST & B - FANSRA
T NG [N5fS =7 T STHF 9N MY | FAFT *I S L (T (A [RIHRAS 2T [ CIAGH0MS Oe [B170 =71

S$51.Ans.(b)

Sol.

012+22=16

016+42=32

32 +62=68
®68+82=132

o JH2 O, 132 + 102 = 232

S$52.Ans.(d)

Sol.

o 43, x IF 7T SO AR AR AN =T

® SJOHIR, 800 + 800 * x * (6/100) = 600 + 600 * x * (10/100)
e 800+48x=600+60x

e 12x=200

e X=200/12=50/3 =162

$53.Ans.(a)
Sol.

e 1% (I 2TF 3 IRF LT 5100 BI_T (@ ATST (T,
o STOAIS 3% = 5100 BIPI

e 1% = 1700 TP

e 100% = 170000 BIHT

S$54.Ans.(c)
Sol.

o (O SIS 5[0 = Prt/100 = 8930 x 8 x 5/100 = 3572 BIP

$55.Ans.(b)

Sol.

o STRYTIOF BTH = 1 x SIS
® 297 x 7= 2376 x 33

e ?=264

$56.Ans.(d)
Sol.

¢ 3G (1 = 6 O IAF

¢ 1 G (1 = 2 O IAF

o 4 G (1P = 8 T AF

6 G AT 3R JP2 FIG; 18 A BH

o 4 G (P + 4 T AF = 8 G AT + 4 G TP = 12 Gl TP FIGG 9 AT FA|
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S$57.Ans.(b)

Sol.
o TEGH e BIGG (1/4 + 1/12)" = 3 RN FAE|
S$58.Ans.(d)
Sol.
A B
TIMAA 3 4
>4 —>(T+9)=16
9TRAR T 8

o WO, 7 IRT Y B K I Re 16 IR
o TSR, B T TSN IT 16 + 7 = 23 IR

$59.Ans.(d)

Sol.

09BN +8V8Y =178V =51

o O], ALGI A 1 89 =51/17 =3I

$60.Ans.(b)
Sol.

o B 100 JB<P PG P A 80 PP PGy pA
o FATFOI WYNG A:B = 4:5

¢ VT AYATO A:B=5:4

o MO, 5 -> 7.5 T0T, 4 -> 6 0T

e B GG 6 6T (1 FAW|

S$61.Ans.(d)
Sol.
2.04 2.88

N\

2.52

7\

o 0.36 0.48
© 0.36:0.48 = 3:4

S$62.Ans.(a)

Sol.
eQ=P+30,R=Q+60=P+30+60=P+90

e O], P+ (P+30)+(P+90)=3P+120=300
e P=60,0=90,R=150

e P:Q:R=2:3:5

S$63.Ans.(a)
Sol.

o 15 5 fSTNT F9 e 75 Brm
o 1 5 f&Txa Yo7 5 Bt
o ST 51 GO = 48 6 fETNR &7 = 48x5 = 240 BrAT

S64.Ans.(c)

Sol.
eQ=2/3R,P=3QP=2R
e P:Q:R=2R:2/3R:R

® =6:2:3
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$65.Ans.(c)
o 1@ 5%, WS 100 GFF WY 5 I Gl
e G : ¥ =5:100=1:20

$66.Ans.(b)
Sol.
1

X+——" 9

1+——l—1_
.« 3
oex+1/(1+3/7)=2
ex+7/10=2

ex=2-7/10=13/10

$67.Ans.(d)

Sol.

o 64 AT (NG [64/7(rem)] =1 fG odd day ™R
o 64 AN A (TNITS + 1) = W] A |

$68.Ans.(d)
Sol.
o 4R, TN O/ = x

o (TSRS (AT I S (W6 GO - U (ATP JTAMOANT I NG BB = 3 (37-34) = 9

o TR BBOT - JTAOINIT GO =x - 4/5x=9 =>x/5=9 =>x = 45

o TSN GO = 45x4/5=36°C

$69.Ans.(a)

Sol.

® 24 99 1% 49 75% 49 540

® =24 9J 1% 49 (75/100%540)
o =23 99 1% d9 405

e =2/3494567

e =378

$70.Ans.(b)
Sol.
©7/9=0.777

e 11/14=0.785
®3,=0.75

e 10/13=0.769

S$71.Ans.(b)
Sol.
e 48 km/hr = 48x5/18 m/s

o 9 TG (GG = 9x48x5/18 m = 120 m WGP N A | 62 (GAGI Al |

S$72.Ans.(a)
Sol.

o NRIF IZN S 6 km/hr
o SiorFd %3 Gte 51 IM 9 km/hr
o WMOJ, (ATOT WYFTA NS = 6+9 = 15 km/hr
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S$73.Ans.(a)
Sol.

o (GG STAEFS (I57 = 400/36 m/s M (400/36)x(18/5)=40 km /hr
o (T(XY (AFG (G IS fATF 20 km /hr (ITN 2GR OI2, (GO AFS (I9V = 40 -20 = 20 km /hr

S$74.Ans.(d)
Sol.

o IH(0 (BN TIN JHIC MYV TSP WGP N B, OUN (GG (IO (M) HfoHm N FA|
o T2, (BNGF (MEF 90 FNBR|

$75.Ans.(d)
Sol.
e Y 10 fNAG 1 km Ao FCF

o Y 8 TG 40 (SIS 866.33 FNBIK AfoFN FF
o X 8 fIfAG 40 CH(SG 1 km AfOEHN FCI
¢ X, Y (B (1km - 866.33m) = 133.33 Al 133%m K] A Gro el

$76.Ans.(b)
Sol.
o IfGT® 4.40 pm A STV 01 8 FNNTEI FIOT 120 - (40/60)30=100° (HFI (OfF FAW|

$77.Ans.(a)
Sol.

o 43, T 100, 20% T WS REFATT 120
o {TACETT BN 10% fGTFNGH

o {TfYE = 120 x 100/90 = 400/3

o TFYEAT 100 -> 450 BT

o YT 440/3 -> (450/100) x 400/3 = 600 GIHT

S$78.Ans.(a)
Sol.
® 23x46=1058

o O[T, 1057 A ATCY 1 (1 P (1A 2312_]T§T5|"’°f‘1( ooy ||

$79.Ans.(c)
Sol.

o -118 11 4 WK 2 A1 3 QI [ROIGy JeIesfel =67 -10, -9, -8, -6, -4, -3,-2, 0,2, 3,4, 6,8, 9, 10

$80.Ans.(b)
Sol.

© 20 G~ 80% =16
© 30 \GI(NT 70% = 21
o (NG 50 G 37 G, WOAJ, GO (STFHL AT =T 37/50x100= 74%.

S$81.Ans.(b)
Sol.

® 4,688 99 TR =72
e 72 (F 13 QIAT O FACeT 7 I A |

$82.Ans.(c)
Sol.

o (XY Z (NG FIGH % DH FACR OIR (37 6000/4=1500 BIFI NGF A
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$83.Ans.(a)
Sol.

o 80 BIPIY 10% FGHPNGG, ST 72 GBIl
o 72 BT 12 CGIGT (NG NS (51T
e 24 BIFIT 4 (GIGT (NG NS M|

$84.Ans.(a)

Sol.
L, 9992 4, 9995 4 9998
. 999?+9997+999 +9997 +999? +9997

3
7
©=(999+1/7 +...+ 999 + 6/7)

® =999x6+(1/7+2/7+3/7+4/7+5/7+6/7)
® =5994 +21/7 =5994 +3

e = 5997

$85.Ans.(a)
Sol.

o (37 3200-240 = 2960 BIRIT TR [ |

$86.Ans.(c)
Sol.

o 4f3, (SN 100 BIFT (TG [BACR
o 10% =IO NP [[Afep S AN SFAYEAT = 110 BIPI

o AT 10% (FTFSN (NATEAS (NG If&F FICA (NATAT ST 110-11=99 BIHT

$87.Ans.(a)
V7 + 34 0f 80 = 60x1/2x8
V7 = 240-48
V7 =192
? = (192)2
- 36864

$88.Ans.(d)
Sol.
®34x%x7/10 x 1664 =728

$89.Ans.(c)
Sol -
wiar =g
85% 70%
75%
5 10

e &l : QA =5:10=1:2
o (1D RITAF 34T = 2/3 x 480 = 320 G

$90.Ans.(b)
Sol.

o STRYNFET = 23x1 = 23, 23x2=46, 23x3=69

S91.Ans.(d)
Sol.

o AN QI G i@ = 250000 7 2% = 5000
o V(FH IR G I = 255000 & 2% = 5100
o WOL{, TR G I = 10100
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$92.Ans.(c)
Sol.

o TCHH ]2 (W= JF (N6 I 30

o (12 ] ICNTHF (N6 ITA 24

o JMH*Y 32 UNCHF (NG I 26

o T, (NN 8 U (NG I (30+24+26)/2 = 80/2 = 40
o JMCIH* & ICNTHIF (N6 I = 26

o STOATE, (TXCNF IAF 40 - 26 = 14

$93.Ans.(d)
Sol.

e 2424 S YTOTS 2 AT I NN BT CIH =6 = 2000 + 20 = 2020

S94.Ans.(d)

Sol.

ex/2=y65/100

e x/y=65/50=13/10

$95.Ans.(b)
Sol.

o JETHRIG STLYN = 49 x 4/7 = 28 & TR YN =49 x 3/7 = 21
o 4 G« JIETHI B (5101 AfAHT 8 IR WYAS RS = 24:21 = 8:7

$96.Ans.(c)
Sol.

e 1912 = 36481 ©IR 36562 - 36481= 81 G (3TN) WO (AP (57T |

$97.Ans.(d)
Sol.
e 3% m/s=10/3m/s=10/3 x 18/5 km /hr =12 km /hr

$98.Ans.(b)
Sol.

¢ 90 TN T 12 km
e 1 TGTY T = 12/90x60 = 8 km
e 3 6T IJ = 8x3 = 24 km

$99.Ans.(c)
Sol.
X YA

A\

o (6 BG = 6 IFP

o X 1 96T ©f® F(F 3 I, Y 1 IO ©f® F(H 1 I35
e 10 BT (ACF 11 BT 1B X 3 IFF ©f S FI

o IF 3 IFF O N ©fS FAR 34 TOTT = 45 NG
o WOIJ, 11:45 4 B0 ©f 2|1

$100.Ans.(d)
Sol.

o 9 @ od SIS = 315 km/2.8 hr=112.5km /hr=112.5x5/18 =31.25 m/s.
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